# RESOLUTION NO. 2015-<u>237</u>

A RESOLUTION AWARDING A CONTRACT TO CHARLES MARANDINO LLC, MILMAY, NJ FOR COMPLETION OF MILL ROAD & OAK ROAD SIDEWALK ENHANCEMENT PROJECT, IN THE AMOUNT OF \$453,114.55.

WHEREAS, the City of Vineland has heretofore advertised for bids for Completion of Mill Road & Oak Road Sidewalk Enhancement Project, in accordance with specifications on file in the office of the Purchasing Agent; and

WHEREAS, on May 27, 2015, bids were received, duly opened and read aloud, being referred to the Assistant Business Administrator for tabulation, evaluation, report and recommendation; and

WHEREAS, the Assistant Business Administrator has, under date of June 1, 2015 submitted a written report and tabulation of the bids received and has recommended that a contract for Completion of Mill Road & Oak Road Sidewalk Enhancement Project, be awarded to Charles Marandino, LLC, Milmay, NJ, in the amount of \$453,114.55, said bid being the lowest bid received and considered in the best interest of the City of Vineland; now, therefore,

BE IT RESOLVED by the Council of the City of Vineland that said contract for the Completion of Mill Road & Oak Road Sidewalk Enhancement Project, be and the same is awarded to Charles Marandino, LLC, Milmay, NJ, on their bid in the amount of \$453,114.55, said bid being the lowest bid received and considered in the best interest of the City of Vineland, and the Purchasing Agent be and the same is hereby authorized and directed to issue purchase order contract for the same in behalf of the City; and

BE IT FURTHER RESOLVED that the City Comptroller has certified that the funds for the contract to be awarded herein are available.

Adopted:	
ATTEST:	President of Council
City Clerk	



June 1, 2015

REPORT TO: THE MAYOR AND COUNCIL

RE: Proposals Submitted to the Purchasing Board 5/27/15

Dear Mayor and Members of Council:

Submitted to you herewith for your consideration is our evaluation of the proposals submitted to the Purchasing Board on May 27, 2015.

# FURNISHING OF ELEVATOR REPAIR AT CITY HALL

It is the recommendation of Management Personnel of the Department of Public Works, which has the concurrence of the Assistant Business Administrator and the Purchasing Agent that a contract be awarded to the low bidder, Otis Elevator Company, Moorestown, NJ, in the amount of \$32,000.00.

# COMPLETION OF MAPLE AVENUE RESURFACING

It is the recommendation of the City Engineer, which has the concurrence of the Assistant Business Administrator and the Purchasing Agent that a contract be awarded to the low bidder, Arawak Paving Co., Inc., Hammonton, NJ, in the amount of \$551,900.00.

# COMPLETION OF MILL ROAD & OAK ROAD SIDEWALK ENHANCEMENT PROJECT

It is the recommendation of the City Engineer, which has the concurrence of the Assistant Business Administrator and the Purchasing Agent that a contract be awarded to the low bidder, Charles Marandino, LLC, Milmay, NJ, in the amount of \$453,114.55.

We trust that the above recommendation will receive your favorable consideration and that the recommended resolutions will be adopted as presented.

Respectfully submitted,

Robert Dickenson

Assistant Business Administrator

/wr



# **BID EVALUATION FORM**

No. of the	RECEIVEL
	MAY 28 2015
	CITY OF VINELAND BUSINESS ADMIN

DEPA	RTMENT CITY ENGINEERING
Date:	5/28/15
The ur	ndersigned recommends that a contract be awarded for the following:
1.	Bid Title: MILL RD & OAK RD SIDEWALK ENHANCEMENT PROJ.
2.	Amount to be Awarded: _\$453114.55
	✓ Encumber Total Award
	Encumber by Supplemental Release
3.	Engineer's Estimate: \$498449.55
4.	Amount Budget: \$_498449.55
5.	Account Number to be Charged: 021-0-00-0000-2-551863
6.	Date Bids Received: 5/27/15
7.	Date to be Awarded: $6/9/15$
8.	Recommended Vendor: CHARLES MARANDINO LLC
9.	Is Recommended Vendor the Apparent Lowest Bidder? 🗸 Yes 🗌 No
10	. Comments/Special Instructions:
11	Evaluation Performed by: MARTIN F. GEISSER
12	Approved By: BRIAN N, MYERS, P.E.,CME
13	Attached: (Check-Off List)
	<ul> <li>✓ Tabulation of Bids</li> <li>☐ Justification for Vendor Recommendation (if applicable)</li> <li>☐ Evaluation Data (if applicable)</li> </ul>

Send copies to:
Purchasing Division
Business Administration

### CITY OF VINELAND SOUTHWEST BOULEVARD BETWEEN HENNIS ROAD AND SHERMAN AVENUE BID TABULATION

## BID OPENING DATE JANUARY 3, 2007

CONTRACT INFORMATION				ENGINEER'S ESTIMATE		CHARLES MARANDINO LLC				PIONEER GENERAL CONTRACTING CO.INC.				LEXA CONCRETE LLC			
ITEM NO.	DESCRIPTION	UNITS	CONTRACT	ENG. EST UNIT PRICE	ENG. EST. TOTAL	BIO UNIT PRICE	BID TOTAL	% OF ENG. EST.	S DIFFERENCE (CONTRACTOR'- ESTIMATE)	BIO UNIT PRICE	BID TOTAL	% OF ENG. EST.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% OF ENG. EST	\$ DIFFERENCE (CONTRACTOR ESTIMATE)
1.1.1	CONSTRUCTION SIGNS	SF	300	\$8,00	\$ 2,400.00	\$ 8.00	\$ 2,400.00	100.00%		\$ 10.00	\$ 3,000.00	125.00%	\$600.00	\$ 9.00	\$ 2,700.00	112.50%	\$300.00
1.1.2	TRAFFIC CONES	UNIT	50	\$20.00	\$ 1,000.00	\$ 20.00	\$ 1,000.00	100.00%		\$ 1.00	\$ 50.00	5.00%	-\$950.00	\$ 16.00	\$ 800,00	80.00%	-\$200.00
. 1.1.3	TRAFFIC DRUMS	UNIT	35	\$30.00	\$ 1,050.00	\$ 80.00	\$ 2,800.00	266.67%	1,750.00	\$ 1.00	\$ 35.00	3.33%	-\$1,015.00	\$ . 50.00	\$ 1,750.00	166.67%	\$700.00
1.1.5	TRAFFIC DIRECTOR, FLAGGER	HOUR	385	\$61.23	\$ 23,573.55	\$ 61.23	\$ 23,573.55	100.00%		\$ 61.23	\$ 23,573,55	100.00%		\$ 61.23	\$ 23,573,55	100.00%	1 1100.00
2,1.2	CLEARING SITE	LS	1	\$4,000.00	\$ 4,000.00	\$ 4,000.00	\$ 4,000.00	100.00%		\$ 4,000.00	\$ 4,000,00	100.00%		\$ 4,000.00	\$ 4,000,00	100.00%	-
3,1,1	REMOVAL OF CONCRETE VERTICAL CURB	LF	350	\$6.00	\$ 2,100.00	\$ 4.00	\$ 1,400.00	66.67%	-700.00	\$ 1.00	\$ . 350.00	16.67%	-\$1,750.00	\$ 2.00	\$ 700.00	33.33%	-\$1,400.00
3.1.2	REMOVAL OF CONCRETE CURB AND GUTTER	LF	300	\$6.00	\$ 1,800.00	\$ 5.00	\$ 1,500.00	83.33%	-300.00	\$ 1.00	\$ 300.00	16.67%	-\$1,500.00	\$ 5.00	\$ 1,500.00	83.33%	-\$300.00
3.1.4	REMOVAL OF CONCRETE SIDEWALK, 4"-6" THICK	SY	28	\$10.00	\$ 280.00	\$ 10.00	\$ 280.00	100,00%		\$ 1.00	\$ 28.00	10.00%	-\$252.00	\$ 5.00	\$ 140.00	50.00%	-\$140.00
3.1.5	REMOVAL OF CONCRETE DRIVEWAYS, 5° THICK	SY	115	\$10.00	\$ 1,150.00	\$ 12.00	\$ 1,380.00	120.00%	230.00	\$ 1.00	\$ 115.00	10.00%	-\$1,035.00	\$ 5.00	\$ 575.00	50.00%	-\$575.00
3.2.1	6"x18" CONCRETE VERTICAL CURB	LF	350	\$32.00	\$ 11,200.00	\$ 28.00	\$ 9,800.00	87.50%	-1,400.00	\$ 25.00	\$ 8.750.00	78,13%	-\$2,450.00	\$ 26.00	\$ 9,100,00	81.25%	-\$2,100.00
3.2.3	6" CONCRETE CURB AND GUTTER, MONOLITHIC	LF	300	\$32.00	\$ 9,600.00	\$ 32.00	\$ 9,600.00	100.00%		\$ 30.00	\$ 9,000.00	93,75%	-\$600.00	\$ 40.00	\$ 12,000.00	125.00%	\$2,400.00
3.3.1	CONCRETE SIDEWALK, REINFORCED, 4" THICK	SY	3,600	\$48.00	\$ 172,800.00	\$ 48.00	\$ 172,800.00	100.00%		\$ 54.00	\$ 194,400.00	112.50%	\$21,600,00	\$ 62.00	\$ 223,200.00	129,17%	\$50,400.00
3.3.2	CONCRETE SIDEWALK, REINFORCED, 6* THICK	SY	550	\$58.00	\$ 31,900.00	\$ 54.00	\$ 29,700.00	93.10%	-2,200.00	\$ 58.50	\$ 32,175.00	100.86%	\$275.00	\$ 62.00	\$ 34,100.00	106.90%	\$2,200.00
3.3.3	CONCRETE DRIVEWAYS, REINFORCED, 6* THICK	SY	675	\$58.00	\$ 39,150.00	\$ 58.00	\$ 39,150.00	100.00%		\$ 58.50	\$ 39,487.50	100.86%	\$337.50	\$ 62.00	\$ 41,850.00	106.90%	\$2,700,00
3.3.4	CONCRETE DRIVEWAYS, REINFORCED, 10° THICK	SY	20	\$80.00	\$ 1,600.00	\$ 68.00	\$ 1,360.00	85.00%	-240.00	\$ 72.00	\$ 1,440.00	90,00%	-\$160,00	\$ 130.00	\$ 2,600,00	162,50%	\$1,000.00

### CITY OF VINELAND SOUTHWEST BOULEVARD BETWEEN HENNIS ROAD AND SHERMAN AVENUE BID TABULATION

BID OPENING DATE JANUARY 3, 2007

elegeles	CONTRACT PROPRATION /	erenie.	建铁铸铁型	ENGINEE	RS ESTIMATE: 📜	BE MA	CHARLES MAR	ANDINO LLC	Con Control	PION	EER GENERAL C	ONTRACTING C	O.INC.	المالان عالم الدا	LEXA CONC		
ITEM.	DESCRIPTION	у шета	DONTRACT IQUANTITY	ENG. EST. UNIT PRICE	DRI EST.	UNIT PROCE	BED TOTAL	% OF ENG. EST.	S DIFFERENCE (CONTRACTOR: ESTIMATE)	BIO LUNCT PROCE	BED TOTAL	NOF ENG. EST.	SETPERFICE (CONTRACTOR- ESTMATE)	UNIT PRICE	1 BIO TOTAL	TO OF DIG. EST.	CONTRACTO CONTRACTO CENTRATE
3.4.1	PUELIC SIDEWALK CURB RAMP DELINEATIONS (CAST IRON TRUNCATED DOME CASTINGS)	UNIT	38	\$300.00	\$ 11,400.00	\$ 330.00	\$ 12,540.00	110.00%	1,140.00	\$ 200.00	\$ 7,600.00	66.67%	-\$3,800.00	\$ 200.00	s 7,600.00	66.67%	-\$3,800.0
4.3.1	12" DIA, REINFORCED CONCRETE PIPE, CLASS V, <7" DEPTH	UF.	10	\$125.00	\$ 1,250.00	\$ 110.00	\$ 1,100.00	88.00%	-150,00	\$ 100,00	\$ 1,000.00	80.00%	-\$250.00	s 100.00	\$ 1,000.00	80.00%	-\$250.0
5.1.1	SAWCUTTING (HMA)	æ	200	\$2.00	\$ 400.00	\$ 3.00	\$ 600.00	150.00%	200.00	\$ 1.00	\$ 200.00	50.00%	-\$200.00	\$ 1.00	\$ 200.00	50.00%	-\$200.0
5.1.2	SAWCUTTING (CONCRETE)	æ	200	\$4.00	\$ 800.00	\$ 4.00	\$ 800.00	100.00%		s 1.00	s 200.00	25.00%	-\$600.00	\$ 1.00	\$ 200.00	25.00%	-\$600.0
75.2.1	ROADWAY EXCAVATION, EARTH (8" THICK BELOW NEW SIDEWALK AREAS)	Cr	975	\$23.00	\$ 22,425.00	\$ 10.00	\$ 9,750.00	43.48%	-12,675.00	\$ 10.00	\$ 9,750.00	43,48%	-\$12,675.00	\$ 1.00	\$ 975.00	4.35%	-\$21,450
5.2.2	ROADWAY EXCAVATION, EARTH, (IF AND WHERE)	CY	38	\$30.00	\$ 1,140.00	\$ 10.00	\$ 380.00	33.33%	-760.00	S 10.00	s 380.00	33,33%	-\$760.00	\$ 18.00	s 608.00	53.33%	-\$532.0
5.3.1	REMOVE ASPHALT, VARIABLE THICKNESS	21	590	\$3.00	\$ 1,770.00	\$ 4.00	\$ 2,360.00	133.33%	590,00	\$ 10.00	\$ 5,900.00	333.33%	\$4,130.00	\$ 6.00	\$ 3,540.00	200.00%	\$1,770.
6.1.1	DENSE GRADED AGGREGATE FILL MATERIAL (RECYCLED CONCRETE), IF AND WHERE	CY	1,330	\$30.00	\$ 39,900.00	\$ 28.00	\$ 37,240.00	93.33%	-2,660.00	\$ 13.00	s 17,290.00	43.33%	-\$22,610.00	\$ 1.00	\$ 1,330.00	3.33%	-\$38,570
8.2.1	DENSE GRADED AGGREGATE BASE COURSE (RECYCLED CONCRETE), 4" THICK	SY	580	\$16.00	\$ 9,280.00	\$ 6.00	\$ 3,480.00	37.50%	-5,800.00	\$ 13.00	\$ 7,540.00	81.25%	-\$1,740.00	\$ 6.00	s 3,480.00	37.50%	-\$5,800
6.2.2	DENSE GRADED AGGREGATE (3/4" WASHED STONE), DRIVEWAY ADJUSTMENT, 6" THICK	CY	20	\$100.00	\$ 2,000.00	\$ 40.00	\$ 800.00	40.00%	-1,200.00	\$ 20.00	\$ 400.00	20.00%	-\$1,600.00	\$ 40.00	\$ 800.00	40.00%	-\$1,200
8.2.3	DENSE GRADED AGGREGATE (CLEAN ROADGRAVEL), DRIVEWAY ADJUSTMENT, 6" THICK	сү	50	\$20,00	\$ 1,000.00	\$ 35.00	\$ 1,750.00	175.00%	750.00	\$ 20.00	\$ 1,000.00	100,00%		\$ 40.00	s 2,000.00	200.00%	\$1,000.
7.1.4	HOT MIX ASPHALT 9.5M94 SURFACE COURSE, 2" THICK, DRIVEWAY ADJUSTMENT, ROADWAY RESTORATION	TON	23	\$75.00	\$ 1,725.00	\$ 150.00	\$ 3,450.00	200,00%	1,725.00	\$ 150.00	\$ 3,450.00	200.00%	\$1,725.00	\$ 150.00	\$ 3,450.00	200.00%	\$1,725.
7,6,1	ASPHALT PRICE ADJUSTMENT	DOLLAR	1	\$3,000.00	\$ 3,000.00	\$ 3,000.00	\$ 3,000.00	100.00%		\$ 3,000.00	\$ 3,000,00	100.00%		\$ 3,000.00	\$ 3,000.00	100.00%	
7.5.2	FUEL PRICE ADJUSTMENT	DOLLAR	1	\$5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	100.00%		\$ 5,000.00	\$ 5,000.00	100.00%		\$ 5,000.00	s 5,000.00	100.00%	
8.1.1	TOPSOILING, 4° THICK	5Y	5,887	\$4.50	\$ 28,491.50	\$ 1.00	\$ 5,887.00	22.22%	-20,604.50	\$ 5.00	\$ 29,435.00	111.11%	\$2,943.50	\$ 5.85	\$ 34,438.95	130,00%	\$7,947
8.2.1	FERTILIZING AND SEEDING, TYPE A	SY	5,887	\$1.00	\$ 5,887.00	\$ 0.50	\$ 2,943.50	50.00%	-2,943.50	\$ 1.00	\$ 5,887.00	100.00%	İ	\$ 0,90	\$ 5,298.30	90.00%	-\$588.
8.3.1	STRAW MULCHING	SY	5,887	\$0.50	\$ 2,943.50	\$ 0.50	\$ 2,943.50	100,00%		\$ 0.01	\$ 58.87	2.00%	-\$2,884.63	\$ 0.45	\$ 2,649.15	90.00%	-\$294.
8.4.1	REMOVE EXISTING TREES (<12" DIAMETER)	UNIT	15	\$1,000.00	\$ 15,000,00	\$ 150.00	\$ 2,250.00	15.00%	-12,750.00	\$ 500.00	\$ 7,500.00	50.00%	-\$7,500.00	\$ 500.00	\$ 7,500.00	50.00%	-\$7,500
8.4.2	REMOVE EXISTING TREES (12" TO 18" DIAMETER)	UNIT	1	\$350.00	\$ 350.00	\$ 950.00	\$ 950.00	271.43%	600.00	\$ 750.00	\$ 750,00	214.29%	\$400.00	\$ 900.00	\$ 900.00	257.14%	\$550.0
8.4.3	REMOVE EXISTING TREES (18" TO 24" DIAMETER)	UNIT	1	\$800.00	\$ 800.00	\$ 600.00	\$ 600.00	75.00%	-200.00	\$ 1,000.00	s 1,000.00	125.00%	\$200.00	\$ 1,200.00	\$ 1,200.00	150.00%	\$400.0
8.4.4	REMOVE EXISTING TREES (24" TO 30" DIAMETER)	UNIT	1	\$2,000.00	\$ 2,000.00	\$ 1,000.00	\$ 1,000.00	50.00%	-1,000.00	\$ 1,500.00	s 1,500.00	75.00%	-\$500.00	\$ 1,500.00	\$ 1,500.00	75,00%	-\$500.0
8.4.5	REMOVE EXISTING TREES (30" TO 36" DIAMETER)	UNIT	1	\$3,000.00	\$ 3,000.00	\$ 2,000.00	\$ 2,000.00	66.67%	-1,000.00	\$ 2,500,00	\$ 2,500.00	83,33%	-\$500.00	\$ 2,400.00	\$ 2,400.00	60.00%	-\$800.
8.4.8	REMOVE EXISTING TREE STUMPS	UNIT	5	\$250.00	\$ 1,250.00	\$ 10.00	\$ 50.00	4.00%	-1,200.00	\$ 500.00	\$ 2,500.00	200.00%	\$1,250.00	\$ 200.00	s 1,000.00	80.00%	-\$250.0
8,4.9	CUT BACK AND PRUNE VEGETATION	LS	1	\$3,000.00	\$ 3,000.00	\$ 15,000.00	\$ 15,000.00	500.00%	12,000.00	\$ 1,00	\$ 1.00	0.03%	-\$2,999.00	\$ 2,500.00	\$ 2,500.00	83.33%	-\$500.0
8.4.10	RÉMOVÉ SHRUBS HEDGES BRUSH	LS	1	\$8,000.00	\$ 6,000.00	\$ 14,000.00	\$ 14,000.00	233.33%	8,000.00	\$ 1.00	\$ 1.00	0.02%	-\$5,999.00	\$ 2,500.00	\$ 2,500.00	41.67%	-\$3,500
8.5.11	LANOSCAPE SHRUB, ARBORVITAE-Thuta Emeraid 38"-48" @24" O.C.	UNIT	22	\$125.00	\$ 2,750.00	\$ 125.00	\$ 2,750.00	100.00%		s 100.00	\$ 2,200.00	80.00%	-\$550.00	\$ 65.00	\$ 1,430.00	52.00%	
8.5.12	LANDSCAPE SHRUB, ARBORVITAE-Thuja Emerald 30"-36" @24" (IF& WHERE)	UNIT	10	\$125.00	\$ 1,250.00	\$ 125.00	\$ 1,250.00	100.00%		\$ 95.00	\$ 950.00	78.00%	-\$300.00	\$ 50.00	\$ 500.00	40.00%	
8.5.13	LANDSCAPE SHRUB, HEDGE ROW, "Photris" 30"-36" @ 8" O.C.	UNIT	10	\$125.00	\$ 1,250.00	\$ 125.00	\$ 1,250.00	100.00%		\$ 100.00	\$ 1,000.00	80.00%	-\$250.00	\$ 53.00	\$ 530.00	42,40%	
8.5.1	SODDING	SY	260	\$8.00	\$ 1,560.00	\$ 6.00	\$ 1,580.00	190.00%		\$ 10.00	\$ 2,600.00	186.67%	\$1,040.00	\$ 6.75	\$ 1,755.00	112.50%	\$195.0
10.3.1	BEAM GLIDE RAIL	UF .	122	\$20.00	\$ 2,440.00	\$ 15.00	\$ 1,830.00	75.00%	-610.00	s 40.00	\$ 4,880.00	200.00%	\$2,440.00	\$ 47.00	\$ 5,734.00	235.00%	\$3,294.
10.4.1	BEAM GUIDE RAIL END TREATMENT, EXTRUDER TERMONALS	UNIT	2	\$1,800.00	\$ 3,600.00	\$ 1,200.00	\$ 2,400.00	68.67%	-1,200.00	\$ 1,750.00	\$ 3,500.00	97.22%	-\$100.00	\$ 3,500.00	\$ 7,000.00	194,44%	\$3,400.
10.5.2	BEAM GUIDE RAIL END SECTION (ROUNDED)	UNIT	2	\$125.00	\$ 250.00	\$ 50.00	\$ 100.00	40.00%		\$ 1,500.00	\$ 3,000,00	1200.00%	\$2,750,00	\$ 100.00	\$ 200,00	80.00%	·
12.1.1	CHAINLINK FENCE, 4" HEIGHT	UF	30	\$45.00	\$ 1,350.00	\$ 35.00	\$ 1,050.00	77.78%	-300.00	\$ 30.00	\$ 900.00	66.67%	-\$450.00	\$ 50.00	\$ 1,500,00	111.11%	\$150.0
12.3.1	REMOVE CHAINLINK FENCE, 4" FABRIC HEIGHT	Œ	40	\$5.00	\$ 200.00	\$ 10.00	\$ 400.00	200.00%	200.00	\$ 1.00	\$ 40.00	20.00%	-\$160.00	\$ 5,00	\$ 200.00	100,00%	
13.1.1	TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 4" WHITE	æ	500	\$0.50	\$ 250.00	\$ 0.75	\$ 375.00	150.00%	125.00	\$ 3.00	\$ 1,500.00	600.00%	\$1,250.00	s 3.00	\$ 1,500.00	600.00%	\$1,250
														·	L	J	

### CITY OF VINELAND SOUTHWEST BOULEVARD BETWEEN HENNIS ROAD AND SHERMAN AVENUE BID TABULATION

## BID OPENING DATE JANUARY 3, 2007

CONTRACT INFORMATION				ENGINEER'S ESTIMATE		CHARLES MARANDINO LLC				PIONEER GENERAL CONTRACTING CO.INC.				LEXA CONCRETE LLC			
ITEM NO.	DESCRIPTION	UNITS	CONTRACT	ENG. EST UNIT PRICE	ENG. EST. TOTAL	BID UNIT PRICE	BID TOTAL	% OF ENG. EST.	\$ DIFFERENCE (CONTRACTOR- ESTIMATE)	BIO UNIT PRICE	BID TOTAL	% OF ENG. EST.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% OF ENG. EST.	\$ DIFFERENCE (CONTRACTOR ESTIMATE)
13.2.6	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 24" WHITE	LF	646	\$4.00	\$ 2,584.00	\$ 4.00	\$ 2,584.00	100.00%		\$ 15.00	\$ 9,690.00	375.00%	\$7,106.00	\$ 4.00	\$ 2,584.00	100.00%	
14.1.R1-1	SIGN, POST MOUNTED, STOP, 36"x36", WITH 3"WIDE REFLECTIVE PANEL-RED	UNIT	6	\$250.00	\$ 1,500.00	\$ 215.00	\$ 1,290.00	86.00%	-210.00	\$ 300.00	\$ 1,800.00	120.00%	\$300.00	\$ 325.00	\$ 1,950.00	130.00%	\$450.00
14,1,51-1	SIGN, POST MOUNTED, SCHOOL ADVANCE WARNING, (FI Y-G), 36"x35" WITH 3" WIDE REFLECTIVE PANEL-YELLOW	UNIT	23	\$200.00	\$ 4,600.00	\$ 211.00	\$ 4,853.00	105.50%	253,00	\$ 300.00	\$ 6,900.00	150.00%	\$2,300.00	\$ 330.00	\$ 7,590.00	165.00%	\$2,990.00
14.1W16-7P	SIGN, POST MOUNTED, DIAGNAL ARROW PLAQUE, (FI G)	UNIT	23	\$150.00	\$ 3,450.00	\$ 35.00	\$ 805.00	23.33%	-2,645.00	\$ 75.00	s 1,725.00	50.00%	-\$1,725.00	\$ 39.00	\$ 897.00	26.00%	-\$2,553.00

# TABULATION OF BIDS MILL ROAD AND OAK ROAD SIDEWALK ENHANCEMENT PROJECT MAY 27, 2015



# ENGINEER'S ESTIMATE: \$498,449.55

	Charles Marandino LLC PO Box 20 Milmay NJ 08340	Pioneer General Contracting Co., Inc. 43 Amhurst St. South River, NJ	Lexa Concrete, LLC 11 Commerce Way Dr Hammonton, NJ 08037	Fred M. Schiavone Const. Inc. P.O. Box 416 Malaga, NJ 08328	Diamond Construction 35 Beaverson Blvd. Ste. 12C Brick, NJ 08723	GWP Enterprises, Inc. P.O. Box 498 Franklinville, NJ 08322
BB, CAC, CEC	BB \$20,000	BB 10%	BB 10%	BB 10%	BB 10%	BB 10%
Surety	YES	YES	YES	YES	YES	YES
Stockholder Discl.	YES	YES	YES	YES	YES	YES
Affir Action	YES	YES	YES	YES	YES	YES
Non-Collusion	YES	YES	YES	YES	YES	YES
Check List	YES	YES	YES	YES	YES	YES
Proposal	YES	YES	YES	YES	YES	YES
Addenda	YES	YES	YES	YES	YES	YES
Iran	YES	YES	YES	YES	YES	YES
TOTAL	\$453,114.55	\$471,231.92	\$487,027.95	\$499,286.31	\$587,309.29	\$630,354.55
CORRECTED TOT.	AL			\$501,286.31	\$587,359.29	

# Specifications also received by the following:

JF Creamer

# Notices also sent to the following:

American Asphalt

Arawak Paving

South State

Mount Construction

A.E. Stone

Perna Finnegan

Garrison Enterprises

R.E. Pierson Construction Co.

SJA Construction

Krissana Construction

# SUMMARY OF PROJECT

Sidewalk enhancement along Oak Road & Mill Road